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Find the equation of the line

1L If f(x)=log,(x-11)+15, find
fl(x).

X = ;ogﬂ(‘j—u\ﬂs
X-15 = log., (y-11)
7=y

g ﬁjz—fﬂs ﬂ

2. Solve: 3x+y=-3
x+4y=10

- —lZy: -30
X+y= -3
._” :"33

X+4(3)= 10
X=-2

with slope of -2/5 passing
through (-5,4)

:—%x+b
Y= —;_-(—s) +b
Y=24b
270 JysExez]

6. Solve: 3x®+7x=-3

4. Factor: 2x®+13x + 15

[Gaxs3)x+5 )

5. 6Graph: -2x-y>-1
y-3x>1

>3X+|
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ysaxt,

\ ®
\1,
\/

-t
/i\
# ‘\

3x%x+3 =0
-3#\49-36
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9. Solve: 2x?+4x-16>0

7. Solve: \/3x+z+2=x

N3x4y = X2
3x+4 = X=Yx +Y4

O = X*1x
O=x(x-%)
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8. Solve: x" =5x“+4=0

(X*-1 x*-4)=0

(x= 1] H‘)(::‘.Zi

Ge+ ) (-1 (X2 (x42)=0

x*2x-8 >0

(x+D(x-2)=0
X=-4 X= A

12, Wheredo f(x)=3x-5 and

10. Find the vertex of
y = 2x% - 20x + 18.

g-lg{-___ = 2_[)(7——]07("‘_..—]

51—? - Q(X’S)L

1. If f(x)=2x"and
g(x)=3x"-11 find g(f(x))

g(f(xﬂ =
=3(20 Y-l

g(x)=x*—4x+7
intersect? Solve
algebraically.

)(Z,L.}X +] =3x-5
X7: X +2.= O

=3[4x"]-1]

= |2X'0"|‘

(x-4) (<3 =0




13. Find the x and y intercepts of 14, a parabola with a vertex at (3, 5) 15. At arecent egg-tossing contest,
e 2% +3x +1 that passes through (-1, -2). one student threw an egg 40 feet that

L = -mt  X=0 2 reached a maximum height of 12 feet.
}—‘W‘F ¥20 Y 3 =Q (X '3) & 5 What equation could be used to model

the path of the tossed egg? _ (20,12

0=2x%3x+ |[y=1 _ 21
0= (ex+)(x+H) -2=a(1-3)"+

- = 7C 2
-7 = [6a T | y=a(x-20Y+12 4 s

~ L /x-3?+S 0= a (40~ 20]?""/2‘ _ =12
/*lj e ¢ ) J [g:"?—(x—zo) /z] ~ 00
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17. Write the equation of each graph below in graphing form. Assume a=1, unless a point is given.
N I\ s N Passes through 7
gh (3.0)
4 a/X-’_zz 3 ;\4 £ 4 4 2 1 0 > / 3
= e % 7
= i d L 342 ’ -3 \\\ | __;/,A_
' \1 ' | o 3 - 5-a =t N e
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_ 43 y= 2 |
Y= x+4




